FoTEREN—Y
D URIL fE/&B kS HE 2set |V R ok

1 7o TER 7V TER 1 2| ¥R

2 OPA627AP OPA627AP 1 2(X1

3 KSC1845 KSC1845 3 6|01, G4, 08

4 KSA992 KSA992 3 6|02, 3, Q7

5 TTC004B TTC004B 2 4|05, Q14

6 TTA004B TTA004B 2 4]Q6, Q11

1 28C2837 (Y) 2862837 (Y) 3 6(012,Q15,0Q16

8 2SA1186 (P) 2SA1186 (P) 3 6/013,Q17, Q18

9 1000u_25v UFW1E102MPD 2 4|C23, C24

10 220u_50v UFW1H221MPD 2 4|c9, €10

11 470u_50v UFW1H471MHD 2 4|c17,C19

12 47p_1000v WIMA FKP2 1000V47pF 1 2(C8

13 0.1u 100V WIMA MKS2 100V0. 1uF 7 14|C11,C12,C13,C14, C15, €21, €22

14 0. 47u_250v ECQE2474KF 2 4/C18, G20

15 0. 68u_250v ECQE2684KF 2 4|c1,C7

16 680p_100v 2AUPZ681F 1 2|5

17 22p 500V T4 v T4 H 500V 22p 1 2(C6

18 10 REY25FY 10Q 2 4|R20, R21 ZEESR
19 22 REY25FY 22Q 5 10(R1,R2,R11,R12,R17 FREER
20 47 REY25FY47Q 2 4|R16,R18 BREEF
21 100 REY25FY100Q 2 4|R4,R24 FEEER
22 470 REY25FY470Q 2 4|R7,R8 EEL XS
23 1k REY25FY 1KQ 1 2|R3 REERR
24 100 REY25FY 100Q 1 2(R19 FERERE
25 4.7k REY25FY4. 7K Q 2 4|R25, R28 BREEZE
26 10k REY25FY 10K Q 1 2(R9 REEFRE
27 100k REY25FY 100K Q 1 2|R10 FEERE
28 22 REY25FY 22Q 4 8|R13,R14,R15, R35 FREEH
29 10_1W M0OS1C100J 10Q 2 4|R5, R6 FEES®
30 2.2_3W MOSX3C2R2J 2.2Q 1 2|R22 FREd
31 4.7_3W MOSX3C4R7J 4.7Q 1 2(R23 BE4%Ee
32 IMEBHAA—F 1N4148 16 32|p1,D2,D3,D7,D8, D9, D10,D11,D12,D13,D14,D15,D16,D17,D18,D19

33 VrF—FA4A—F 12V 0.50 NTZJ12B 2 4|2D1, 2D2

34 1uH BEZSaAIL 1.2me TF+ AL 1 2|L1

35 B5P-VH B5P-VH 1 2|J2

36 3 3 0 0(J1

37 7 ¥ TR R X —H—M3X10mmA & A X SBB310 4 8|EE LR (AMP)

38 FUOTRRARD M5 F A M3X5 Ef= Lt vE +A 4 8|EEER (AMP)

39 FSUTREABHFRT MKI2 A M3X12 EfR=—w 7L A v ¥ FA 2 4EEE (TR)
40 FSUCREABHRT MX6 F AR M3X6 EER=w4aILAyF FAR 4 8|EEER (TR)
41 FSUCREEHRT NG FA M3X8 ER=—w 4Lt vE FA 2 A|EEE (TR)
42 FSUYUREAY—LY— TOPRY —ILY— b 4 8|EIFEAR (TR)
43 FeTY (A LRER) fit 7k R—78—#180 30 x 80mm 1 2|2 D
44 LYyavyyR bg )avy R bg 1 2|2 Db

20194 128 -1- ZERO DISTORTION_AMPEB &Y A R_191224



BRBERLEN—Y

&/ B kS [EE:S Uk ik
1 EIREMR PRT-02 PRT-02 1 EH iR
92 PC1 Photovoltaic MOSFET Driver (APV1121SX) APV1121SX 2 PC1, PC2
3 Q1 AALSVORA 2SA933S 5 01,02, 03,04, Q5
4 Q6 KSA992 KSA992FBU 2 06, Q9
5 Q7 KSC1845 KSC1845FTA 2 07,08
6 010 Nch MOS-FET (100V100A) TK100E10N1 4 010,0Q11,Q12,Q13
7 C1 I—J)L FF 21— 50V15,000uF LKGTH153MESACK 2 C1, G2
8 G5 FWs 1) —X 100u/25v UFWTE101MED 1 C5
9 C3 ESS 1) —X BP 10u/25v UES1E100MDM 2 C3,C4
10 R20 1k REY25FY 1KQ 2 R20, R21 FERERE
11 R9 10k REY25FY 10K Q 1 R9 REEFRE
12 R1 47k REY25FY 47KQ 6 R1,R2,R3,R4,R7,R10 BRERFE
13 R6 33k REY25FY 33KQ 1 R6 BEEFRE
14 R8 100k REY25FY 100K Q 1 R8 REEBER
15 R11 22k_1W M0S1C223J 1 R11 FAREE
16 R5 FEEER (EERHEFHE) VRE0k 1 R5 503
17 D3 IMEEHAA—F 1N4148 1 D3
18 D1 VIF—HA4F—F 9.1V 0.50 1N5239B 2 D1, D2
19 D5 T7—RMYBNY=FALF—F RENTOTF6SFHC9 8 D5,D6,D7,D8,D9,D10,D11,D12
20 D4 LED SLI-34UT3F 1 D4
21 J1 B5P-VH R— X ff7RR k B5P-VH 2 J1, J2
22 J3 pingd—3F+)LJavy XW4E-02C1-V1 2 J3, J4
23 J5 dping—3F)LJBvY XW4E-04C1-V1 1 J5
24 EIEER (POW) ERRARA R R—H—N3X8mm A R A R SBA308 5 EER (POW)
25 E &R (POW) ERERARD MXE AR M3X5 Efi= vt yx FAR 5 & 7E & (POW)
26 EFEE (POW) ERERARS M6 ~S5 R M3X6 EER=—w 7 LAvF FFR 5 & %E & (POW)

kS REI—Y

&/ &8 mE EE:S LRIV ke
1 FSoR 2AFR-0300 (300VA) 1 FSURE
2 FSURART MX8 RFULR BAR Mx8 RFULR FA 4 kS RE
3 rFSURAFY L M RFULR ATVLR MAFy bk 15 4 S URE
4 FSURAET YUY B4 HR=vTILAYF ¢4 4 bS5 URER
5 FSURRAST YL x d4 HR=—wTILAYE ¢4 4 kS RER
6 b5 Y ZRAEE LG F R1.25-3.5 2 S URER
7 FSURBARBEF 2 —T O3 bem B IN#EF1—T ®3 £ bem 1 kS RER

r—REI—Y

&/ &8 RE [EE:S Uk #E
1 fr— R &M HY88-33-33SS/N T & 1 r— 2
2 r—2 R TC-3S(1/4) 4 r—2RE
3 F—ZRBRART MKI2 SR M3x12 BER=vrLAvF FSR 4 r— 2
4 T—ARRAFTY L M3 By LAyF M3FY bk 15 4 r—2RER
5 T—ZARAFETY Y $3 HR=—vTLAvx ¢3 4 r—RER

20194 128 -2- ZERO DISTORTION_AMPEB &Y A R_191224



ERARAN—Y

0 S URIL f&/& B & B % S URIL =3
1 R E&fiHF (PL) R1.25-3.5 2 FR AR

2 B 4% &R (AC) 7% R85 F (AC) R1.25-3.5 1 B4R % (AC)
3 BL 4R &8 (AC) £ & L% F (FU) R1.25-3.5 1 BL R &8 (AC)
4 BL R &8 (SW) [ & AL 3% F (SW) R1.25-3.5 2 BL R &R (SW)
5 T Dt R —JIVEERY—LT VY =T YA 5 Z Dt

6 ACER ACf>Ly bA MR M3X10 EfR=—v 4L A v M 2 ACHR

7 PERSAN WFERARY MX12 FS5 R M3x12 ER=vyTILAyF FSR 2 DERSAS |
8 PEFSAS: | WFERATY L M3 Hfi—vTLAvd: M3F v b 15 2 PEFSAS:|
9 PERGAN: WFEAEIY Y ¢3 BER=-vTILAYF ¢3 2 PEFSS: |
10 BRHRAR (A) TUI~BRr—TNL VHSIN T /N—F R 7 —T )L 2 BRHRAR (A)
" BRHRER (A) 7T ~BRT—JILAER REY25FX 2.2Q 2 BRHR AR (A) FRBRE
12 B4R EB (B) RCA~VRAA R &~ — T )L 1.5D-QEV  50cm 1 B4R 8B (B)
13 B4R &8 (B) RCA~VRAE R &4 — T )L 1.5D-QEV  50cm 1 B4R ER (B)
14 B 4288 (C) W~7 27 (LRAR#@Yy—I L 1.5D-QEV  50cm 1 B4R &8 (C)
15 BL#RER (C) VR~7> 7 (R)AR&E7—T L 1.5D-QEV  20cm 1 BL#R AR (C)
16 B4R &R (AC) AC~iHFE 4 —FIL 50cm B UL1015 AWGT8 2 50cm 1 B2 434 (AC)
17 B 4% &R (SW) SW~ 8 F& 47— JJL10cm F UL1015 AWG18 # 10cm 1 B4R &R (SW)
18 BL 440 (PRO) BR~SPAY—T )L 10cm  # UL1015 AWGT8 # 10cm 2 B2#555 (PRO)
19 B4R B (AC) AC~FUSEr —JJL 10cm & UL1015 AWGI8 & 10cm 1 B4R &R (AC)
20 B 4% &R (SW) SW~ i F& 4 —T)L10cm & UL1015 AWGI8 & 10cm 1 B4R &R (SW)
21 B 4% 2B (AC) FUSE~iF &4 — Il 50cm & UL1015 AWGT8 & 50cm 1 B4R &R (AC)
22 B2 456 (PRO) BR~SPAT—TIL 10cm B UL1015 AWG18 & 10cm 2 BE4ER (PRO)
23 RRED K48y bSUTRS—TIL 10en B UL1015 AWG18 & 10cm 2 RRED

24 L PLAAURHEF 2 —T D3 5em B IR#EF 2 —T O3 2 Gem 2 BT

25 1R AEER (SW) BRRA v FRRGEF1—7 IEF1—T ©4 B 5em 1 R AEER (SW)
26 BRARED (A) FUI~BRT—INBIREF 1 —T IEF1—T ®4 2 Sem 2 BRARED (A)
217 ANE RCA#HF o WTN-20-1045G 7= 1 AHER

28 AFER RCA#HF B WTN-20-10456 & 1 AN

29 i H AT SPitF ~RFHE JRBP1001 1 i hE

30 i A A SPifF ~R7HE JRBP1001 1 H A E

31 ACER ACA > Ly MEF JR-101 1 ACER

32 ACER Ea—XFRILE €y b+ MF-525M 1 AGER

33 ACED ¥y bba—=xX FGMB 125V 7A 1 ACER

34 ACER ACa— K D-18A 1 ACER

35 245D (VR) 25EVR 50K Ah—T R2122G-RA1-A503-0H03 1 12 VEE8 (VR)
36 R 4EER (VR) 2EVRAY TEIR R2122GR+ T #1R 1 RAEER (VR)
37 1R YEE (VR) RYa—L/T K-5475-L 1 1R AEER (VR)
38 R AEER (SW) BRAAVF DS122 1 1R AEER (SW)
39 EE - RA4ay b30F (FA) BN-9-AR 1 KRR

40 DEFAS | iHFE 3P RS 763-8129 1 DEFGAS |

20194 12R

ZERO_DISTORTION_AMPER SR R 191224



	ﾍﾟｰｼﾞ番号1
	ﾍﾟｰｼﾞ番号2
	ﾍﾟｰｼﾞ番号3

